850

50

7200
50 2400 2400 2400 150
2 FG1 50H50 o 22 N 2
= 30 = =~/ 300
= 100 A-8wb (7926) M1§ L=450 0 e
= TU/h-Rmh (7974 = =
=l 250 e 250 |=
500 500
Tvh-Ewb (79 28) M1§ L=450 = |/
B 1 §\\ _
=l = O ‘ o =
=~ = g Toh-Enk (p2f) M16 L=450 F o~
fi4 &+ b
(®) 1=
= Th=E0t o) W16 L=450 (¢ =
A fi& Z&fy b A
@ ] % i kit
A = = A FG =
F 1 300 1| S0LS0
Th-Emb (799 150 4800 10 2400 50
M1 L=450 300x250 Toh-gmt (7978) D13
BBl ) m MI6 L=450 150 [ E®R® 1,60 |
_ \ o ak D10 0300
- = N/ 10
S A | 100 S T D1(
= T VFL P == v/ O ca vy )=t REFEEREF c=7 |
= 1-D13 - gk % : SD29G5A
_ 22— 120194 1083ETHR| b W H : S50kN /nf (B9
~ ——— = W D10 @300 IE% B&ENo. ZHENo.
] “ e s =
=4 — WNRE BE :jc%é
=100 100 1000 | 500 | [100 ERR— RN R LAG 30408
Mz ZR | BgN | 8N XKEF
F 13:'-’13 FGH% EWmARX - WX HLDHA11009B
| EmiEsses 1 /30 | ®R 1 /60 |#®&AE 2020. 06. 22 B4 FERMTEERSH




